

Kalapet, Pondicherry

Home

Mother Name: SUGIRTHA.S

>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0001

Name of the Student : ABEL CHRISTIYAN A

Father Name: AMALAN RAJ KUMAR.A

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



SI. No.

1

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0006

Name of the Student : AMARNATH R

Th

Th.

Father Name: RAVICHANDIRAN G

	Mother	Name : LA	AKSHMI R
Credit	Grade	Credit	Grade
Hours	Point	Point	

5.00

15.00

С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

PYTHON PROGRAMMING

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home

Mother Name : AJIMUNISA M



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0010

Name of the Student : ERSATH AHAMADU M

Father Name: MOHAMED SHAJAHAN M

SI. No.	Subject Name	Th	Credit	Grade	Credit	Grade
5.1.1101	Subject Name	Pr	Hours	Point	Point	Grade
1	ENVIRONMENTAL STUDIES	Th.	2	000	000	Fail
2	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
3	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
4	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home

Mother Name: THILAGAVATHY



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0016 Name of the Student : JEEVA A

Father Name : M.AMIRTHAPILLAI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	P
2	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С
3	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
4	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail
5	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home

Mother Name: TAMIJARASSY .K



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0018

Name of the Student : KAVIYARASAN K

Father Name: KAVIDOSS .T

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	4.00	12.00	Р
2	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
3	GE-I: NUMERICAL METHODS	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0024

Name of the Student : MURUDESHWAR S

Father Name : SIVAJOTHI M Mother Name: VARALAKSHMI S

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0030 Name of the Student: RAGUL R

Father Name: RANGARAJ **Mother Name: SHANTHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	4.00	12.00	P

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0031

Name of the Student: RAMANATHAN U

Father Name: R UTHIRAPATHY Mother Name: REVATHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	000	000	Fail
2	DATA STRUCTURES & ALGORITHMS	Th.	3	000	000	Fail
3	TAMIL-II	Th.	3	000	000	Fail

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



SI. No.

1

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0032

Name of the Student : RAMPRAKASH S

Th

Th.

Father Name: S.SIVAPRAKASAM

Credit Hours	Grade Point	Credit Point	Grade
3	5.00	15.00	С

Mother Name: S.JAYANTHI

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

PYTHON PROGRAMMING

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0038 Name of the Student: SARATHI C

Father Name : CHANDIRAN.R Mother Name : KALAISELVI.C

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	DATA STRUCTRES AND ALGORITHM LAB	Th.	2	4.00	8.00	Р	
2	PYTHON PROGRAMMING	Th.	3	000	000	Fail	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0042 Name of the Student : SIBIRAJ C

Father Name : CHINNADURAI **Mother Name: SARASWATHY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



SI. No.

1

2

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0043

Name of the Student : SIVABALAN M

Th

Pr

Th.

Th.

Father Name: MATHIRAYASAN

ENGLISH-II

	Mother Name : TAMIL SELVE			
Credit Hours	Grade Point	Credit Point	Grade	
3	000	000	Fail	
3	5.00	15.00	С	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

PYTHON PROGRAMMING

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



>>> Result Announced Date: 03/05/2024

Results

II Semester B.Sc. Computer Science DECEMBER 2023 Examinations

Reg. No.: 21CS0045 Name of the Student: SRIRAM V

Father Name: VEERASEGARAN Mother Name : _

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PYTHON PROGRAMMING	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results



Kalapet, Pondicherry

Home



Results